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Calcule et complète les pointillés puis colorie les cases en utilisant le
corde couleur suivant :

4 : gris
5 : marron

6 : rouge
7 : jaune

8 : noir
9 : bleu
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(H ;1) : 2× 4 = . . .

(I ;1) : 7× · · · = 56
(J ;1) : · · · × 3 = 24
(K ;1) : 32 = 4× . . .

(L ;1) : 10× · · · = 80
(M ;1) : 6× · · · = 48
(N ;1) : 2× · · · = 16
(O ;1) : 9× · · · = 72
(P ;1) : 40 = · · · × 5
(H ;2) : 8× · · · = 64
(I ;2) : 4× · · · = 28
(J ;2) : · · · × 9 = 63
(K ;2) : 36 = 6× . . .

(L ;2) : 3× · · · = 18
(M ;2) : 9× · · · = 54
(N ;2) : 7× · · · = 49
(O ;2) : 6× · · · = 42
(P ;2) : 72− 64 = . . .

(H ;3) : 206− · · · = 198
(I ;3) : 3× · · · = 21
(J ;3) : 35 = 5× . . .

(K ;3) : 64÷ 8 = . . .

(L ;3) : 4× · · · = 24
(M ;3) : 24÷ 3 = . . .

(N ;3) : 14 = 2× . . .

(O ;3) : 8× · · · = 56
(P ;3) : 402 − · · · = 394
(E ;4) : 48÷ · · · = 6
(F ;4) : 1 024− 1 016 = . . .

(G ;4) : · · · − 8 = 0
(H ;4) : 72÷ 9 = . . .

(I ;4) : 35 = 5× . . .

(J ;4) : 80÷ · · · = 10
(K ;4) : 21÷ · · · = 3
(L ;4) : 432 − · · · = 425
(M ;4) : 42÷ 6 = . . .

(N ;4) : 997 + · · · = 1 005
(O ;4) : 423 + · · · = 430

(P ;4) : 218 + · · · = 226
(D ;5) : 56÷ 7 = . . .

(E ;5) : 4× · · · = 16
(F ;5) : 32 = · · · × 8
(G ;5) : · · · × 9 = 36
(H ;5) : 973 − · · · = 965
(I ;5) : 40÷ · · · = 5
(J ;5) : 56÷ · · · = 8
(K ;5) : 334 + · · · = 341
(L ;5) : 836− · · · = 829
(M ;5) : 63 ÷ 9 = . . .

(N ;5) : 28÷ · · · = 4
(O ;5) : 473 + · · · = 481
(P ;5) : 502 − 494 = . . .

(E ;6) : 16÷ · · · = 2
(F ;6) : · · · × 9 = 81
(H ;6) : 6× · · · = 24
(I ;6) : 324 + · · · = 332
(J ;6) : 337− · · · = 329
(K ;6) : 7× · · · = 42
(L ;6) : 48 = 8× . . .

(M ;6) : · · · × 5 = 30
(N ;6) : 32÷ · · · = 4
(O ;6) : 111× · · · = 888
(P ;6) : 496 + · · · = 504
(D ;7) : 88÷ · · · = 11
(E ;7) : 736 − · · · = 728
(F ;7) : 1 005 − 997 = . . .

(H ;7) : 368 + · · · = 376
(I ;7) : 5× · · · = 45
(J ;7) : 337 + · · · = 341
(K ;7) : 125× · · · = 1 000
(L ;7) : 18÷ · · · = 3
(M ;7) : 9 + · · · = 17
(B ;8) : 59 + · · · = 67
(C ;8) : 425− · · · = 417
(D ;8) : 7× · · · = 28
(E ;8) : 32÷ · · · = 8

(F ;8) : 102 − · · · = 98
(G ;8) : 122 + · · · = 130
(J ;8) : · · · × 1 = 8
(K ;8) : 7× · · · = 63
(M ;8) : 3× · · · = 27
(N ;8) : 459 + · · · = 467
(A ;9) : 495 − · · · = 487
(B ;9) : · · · × 3 = 12
(C ;9) : 20 = 5× . . .

(D ;9) : · · · × 6 = 54
(E ;9) : 72÷ · · · = 8
(F ;9) : 4× · · · = 36
(G ;9) : 3× · · · = 12
(H ;9) : 8÷ · · · = 1
(I ;9) : 902− 894 = . . .

(M ;9) : 11× · · · = 88
(N ;9) : 18÷ · · · = 2
(O ;9) : 992 + · · · = 1 000
(B ;10) : 333 + · · · = 341
(G ;10) : 36÷ · · · = 4
(H ;10) : 28 ÷ 7 = . . .

(I ;10) : 12÷ · · · = 3
(J ;10) : 1 012− · · · = 1 004
(L ;10) : 1 000÷ · · · = 125
(N ;10) : 18 ÷ · · · = 2
(O ;10) : 27÷ · · · = 3
(C ;11) : 320 = 40 × . . .

(H ;11) : 45 ÷ 5 = . . .

(I ;11) : 425 + · · · = 434
(J ;11) : 54÷ · · · = 6
(K ;11) : 854 + · · · = 862
(N ;11) : 640 ÷ · · · = 80
(O ;11) : 81÷ · · · = 9
(P ;11) : 993 + · · · = 1 001
(D ;12) : 800÷ · · · = 100
(K ;12) : 854 + · · · = 862
(M ;12) : 724 + · · · = 732
(O ;12) : 100− · · · = 92
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(P ;12) : 527− · · · = 519
(E ;13) : 720 = · · · × 90
(J ;13) : 296 + · · · = 304
(L ;13) : 45÷ · · · = 5
(O ;13) : 180 = 20× . . .

(P ;13) : 60− · · · = 52
(F ;14) : 300 − · · · = 292
(G ;14) : 480 ÷ · · · = 60
(H ;14) : 396 − 288 = . . .

(I ;14) : 523 + · · · = 532
(J ;14) : 63÷ 7 = . . .

(K ;14) : 1 012 − · · · = 1 003
(L ;14) : 1 000 ÷ 125 = . . .

(M ;14) : 810 ÷ · · · = 90
(N ;14) : 9÷ · · · = 1
(P ;14) : 270 = 30× . . .

(Q ;14) : 2 006 − · · · = 1 998
(G ;15) : 240 = 30× . . .

(H ;15) : 18 = 2× . . .

(K ;15) : 720 = 80× . . .

(L ;15) : 924 − 916 = . . .

(M ;15) : 436 + · · · = 445
(Q ;15) : 2 024 − · · · = 2 016
(F ;16) : 800÷ 100 = . . .

(G ;16) : 450÷ 50 = . . .

(I ;16) : 3× · · · = 15
(J ;16) : 160 = 20× . . .

(N ;16) : 569− 561 = . . .

(O ;16) : 250 = 50× . . .

(Q ;16) : 400 ÷ 50 = . . .

(F ;17) : 480÷ 60 = . . .

(G ;17) : 540 = 60 × . . .

(H ;17) : 451− 443 = . . .

(I ;17) : 324 + · · · = 332
(O ;17) : · · · × 70 = 560
(P ;17) : 995 + · · · = 1 003
(Q ;17) : 720 ÷ 90 = . . .

(F ;18) : 487− 479 = . . .

(G ;18) : 360÷ 40 = . . .

(P ;18) : 20 × · · · = 180

(Q ;18) : 425 + · · · = 433
(G ;19) : 240÷ 30 = . . .

(H ;19) : 720 ÷ 80 = . . .

(O ;19) : 630 = 70× . . .

(P ;19) : 123 − 115 = . . .

(H ;20) : 452 − · · · = 444
(I ;20) : 180 ÷ 20 = . . .

(J ;20) : 50× · · · = 450
(K ;20) : 338 + · · · = 347
(L ;20) : 630 ÷ 70 = . . .

(M ;20) : 1 003 − · · · = 994
(N ;20) : 90 × · · · = 810
(O ;20) : · · · × 50 = 400
(I ;21) : · · · × 100 = 800
(J ;21) : 160 ÷ 20 = . . .

(K ;21) : 3 006− 2 998 = . . .

(L ;21) : 400 = 50× . . .

(M ;21) : 1 232 − · · · = 1 224
(N ;21) : 11 × · · · = 88


